TR
1o
Ho

=3
ol
o
1o
ol

D d W l l



A 6 @ 8 B 12

® 3



L4 T 10 13 1618
2767 9 157 207 217 42

@D 170 @ 270 ® 37K @ 47 ® 574



Meu7?
\;_li

Z

le]
217110

4.

A



11) ( 65 44 )
R => —_—, —
O 120" 120

(D
24’




Ho
wrt

.

— |©

ul D.u
SR~ I



T H40] 2715 Hlatste] [ |9kl >, <
AH 2 HE oA Q.

19 11 ) 3
N—[1= N—[ |1=




o



o

1 7]
7} 15 ¢l
A=

7h



Zopigg vE2 A e 2L ol AU

0.15&

45

10.



11.

o AU

40 2718 st O ool 42 >, =, <E HEA ILE



g
Hjo

12, thg Srefol A

ahol] B4 UERpAL L.

12
15



10 [ S



14. e % 27171 2L 84719 Aol AL olm AAY7A

3 48 o 82 16 9
gl’ 757 i{)g’%S 11° 22
@ =53 ® 553



— <

<f |00

[arR )

™ |00

™



S 22} e BhE BE B 94 AL
6 4 8 9 18 32 20 20 48
9’ 100 12° 12° 24’ 48" 30" 52" T2
@ 174 @ 270 ® 37 @ 470 ® 571




17.

2Rt 2] Fol 45 0] 7, oF

e e
=%



ol
R
o
=
—_
jo
i
™
il
o
Ho
il .
+ oo
of X
~ o
x ot
Nox
®e )
N o
T T
_
B ®
—
o 7
I~ 7w o
A
o o
0| H_u_
0

1



19. o2 F 71ekEsE BF 9 Q1A FEA L

6 9 12 33 21 31

2
9 15" 217 17" 45 49 50







™ o
O e~

— |




22,

oA 8hiL, W g,

km FEH

o
T

= w

oA2AA o) A E AQHY 27 2

2] Hol A A= 77k 2R At =



23. HelA SR AR Jan, FolA BRANA AE Llom

, Aol 2 A7EA o] A2l = %km AUk HollA 7§ 2

S DIREE:

Qe
»



B4E 252 Ukl YU ¥ 2o 92
2 e BAYUA?

@® 25, 25, 0.25 @ 25, 25,0.2 ® 5,2,05

@ 5,2,0.1 ® 5,1, 0.01






